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Identify and use basic postulates about points, lines, and planes

(16-23)
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Use algebra to write two -column proofs

Example- 1
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Use properties of equality to write geometric proofs Example-3 S
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Write proofs involving supplementary and complementary angles

Example- 1-2
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Write proofs involving congruent and right angles Example- 3-4
5 576-577
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Identify the relationship between two lines or two planes Example- 1 595
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Name angle pairs formed by parallel lines and transversals
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Use theorems to determine the relationships between specific pairs of angles

(1-9)
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o Classify the slopes of lines-

Example-1
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Write an equation of a line given information about the graph.
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- Recognize angle pairs that occur with parallel lines. Example--2 i
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Prove that two lines are parallel Example- 1-
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Find the distance between two parallel linesFind the distance between a point and a line

Example- 1-
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Identify and classify triangles by side measures.
14

Example- 3-4-5
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Example- 1-
669

Apply the Triangle-Sum Theorem.
1- Jte
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Apply the Exterior Angle Theorem

(3-8)
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Name and use corresponding parts of congruent polygons Example- 1-2 —
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Use the 555 postulate to test for triangle congruence. Example- 1-2
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Use the 555 postulate to test for triangle congruence.

Example- 1-2
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Use the SAS postulate to test for triangle congruence
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Use the ASA postulate to test for triangle congruence Example- 1- o
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21 Use properties of isosceles triangles Example- 2-3
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21 Use properties of isosceles triangles Example- 2-3 -
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Use properties of equilateral triangles .

(1a-21)
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Use properties of equilateral triangles . (14-21) gy
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Identify reflections, translations, and rotations.

Example- 1-2
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- Use coordinate geometry to write proofs- Position and label triangles for use in coordinate proofs Example- 1-2 Y
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Find perimeters and areas of triangles.

Example- 4-3
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Find perimeters and areas of triangles.

Example- 4-3
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